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a) 2.03
b) 2.003
c) 2.3
d)0.23

a) 16 km
b) 16 m
c) 16 cm

d) 160 m

a) 0.2 km
b) 1.2 km
c) 12 km

d) 120 km

a) 2450 kg
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b) 2.5 kg
c) 0245 kg
d) 2.45 kg

sbwxll o 6 L, 600 ML (rolw s3J 300 mL s>ly jasuid sbuxll sleg asw (5)
NMos ol guloius sleg o5

a) b0
b) 200
c) 25
d) 22
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By O gaclw(a
48495 55 g wlelw(b 9
48,85 40 ¢ aclw (C
> 5 g puiclw (d
(7) 11 min, 35 s =
a)1135s
b) 695 s
c) 598 s
d) 229 s
(8) 625 s =
a)11 min, 25 s
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b) 10 min, 25 s

c) 12 min, 25 s

d) 100 min, 25 s

il Lo JS 0 gl Yol
(9)20 cm = 0.2 km
(10)120min =2 h
(11) 280 mL = 0.28 L
(12)75g=0.075 kg
(13) 5km, 100m = 5100 m
(14) 4 ton, 500 kg = 4050 kg
(15)3L,45mL = 3.045 L
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